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Note: i) All questions are Compulsory subject to Internal choice.

ii) Figures to the right indicate maximum marks.

Q.1 A. Choose correct alternatives ( Any 8) 8 Mark

1. In Ms-Word two page orientation are and
a) Rectangle, Round b) Horizontal, Vertical
b) Portrait, Landscape c¢) Square, Round

2. e commerce is commerce between companies and consumers.
a) B2C b)B2B c)C2B d)C2C

3. refers to unsolicited commercial email or unsolicited bulk email.
a) Worm b) Virus c) Trojan Horse d) Spam

4. is seen as a global leader in m commerce.
a) UK b)Japan c)China d) USA

5 The inside of usually contains an embedded microprocessor.
a) Debit Card b) Credit Card c) Smart Card d) Pan Card

6. RTGS stands for
a) Real time gross settlement b) Real time gross section
¢) Real time grade settlement d)Real time grade section

Te is an E-Commerce apphcatlon which allows the customers to perform any of
the virtual banking functlons, financial functions online in a protected and secure
manner.

a) E-Commerce b) E-Banking c) E-Content d) E-Communication

8. is a collection of WebPages.
a) Website b) Webpage c) Web Server d) Web link

9. URL stands for
a) Uniform Resource Locator b) Unique Resource Locator
¢) Uniform Request Locator d) Uniform Response Locator

10. ATM stands for ‘
a) Automated Teller Machine b) Augmented Teller Machine
c¢) Automated Talking Machine d)Augmented Talking Machine

Q1.B. State whether the following statements are True or False (Any 7) 7 Marks
1. Smart Art option is in the Insert Menu of MS Word.

2. E-commerce transaction between two consumers is C2C.

3. In star topology, the systems are now connected to some central device.

4. Hyperlink and bookmark are the same.

S, IP address stands for Internet Protocol.

6. Cross media convergence is not a type of convergence.



10.

Amazon is an example of G2G type.
Formula in MS-Excel must begin with = sign.
Default name of Ms-Word document is “Document]”.

Financial function NPV stands for Net Present Value.
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Explain E-commerce advantages & disadvantages.
Explain different types of media convergence.

OR
Explain E-commerce with its types.

Explain the I-way with its components.

Explain following functions of Ms-Excel

a) pv() b) pmt() c)nper() d)rate()

What are Header and Footer? How to insert it in Word? Explain with examples.

OR
Explain following functions of Ms-Excel

a) fv() b) ppmt() c)ipmt() d) npv()

What is bookmark? How to insert it in Word? Explain with examples.

Explain payment gateway in detail.
Explain e-banking with its benefits.

OrR
Explain digital wallet with types.

Explain focus areas of working group on internet banking.

Explain eight different types of threat to the computer system.
Explain different security tool the computer system.
OR
Write short note (any three)
UPL
Star Topology
RTGS
Websites

Internet, Intranet & Extranet
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